BALVEFHKER )X MHEFERFHARIIRE (FBEEFEEREFTRERVECEID e NAN {25-2 #5F:E)

BN
3 2 |%Bﬁ¢ 4 —4x“|
m
3 7 3 1 2 | 9
I T 7
8 7 4 3 10 1 0 11 10]3
| J K L 16
12 |2 8 | 9 3| 4 3| 2 1 2 4 | 5 4 ] 0 4 | 3
A B C D E F G H
46 13010 18 92 sl 118 o]7 14]o 7 64 128 5011 4o oo 211
FFE LR TR
1 2 3 4 5 6 7 8 9 @ 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 1 2 3
OB OB OO e EEE o/ MO OB OO & RE & BB E M &
B o4k R EEZEEEHSNZJ)IEEI EI:EHBIZEI & EEHSSEZBATHEBRLE B F o
AR AR HE N ABFEL PN ARFRBEREAZAREERNRRFTE R  -MEF R IT o
1 &4 x | £FxK 1 K1 Kb - | K Ra®H | 7#7RAREHR &L E I 5 =
4 4 4 Fx KM 7R K] 41 41 211 41 KfxK1BB1 1 K1 KK 010 K
ARl I #xs! I 4 X414 Fr22441 1 K148 1 X |
4 4 | R 4 4 X z - z A4 A | X X @ X 14 4« R4
A | % 4 & z = 4 T z = | =
x 4 X [ x 4
X T R
H#E K15 % | Hevis |F—REF_RE(F=RE|FHRAE|ERmHIE - FE A ES I E_E% BERIE E=E
10/21] # R 1 5k35 | Bisz 9.00 B BIX e | 1B b AR FEEINEEET
NHERE [B]®]6 9.00 | 11.20 | 13.40 ﬁ%ﬁ ZIH AR NERRE 1A
11/3[ ®EESs |@|®|D 9:00 | 11:20 | 13:40 O [ IBERE | BELFF 1R BAGH 1%
h=MHG 9:00 | 11:20 | 13:40 ERRR TBEF -2 FRRER 4%
A R 0] K D) 900 | 11.20 | 13.40 O | BHRE | BERDE 1A EZITRIN
BHE2ME (D[] 9:00 [ 11:20 [ 13:40 HEARE [MHEF 5B {2 FEHE {2
11/5_TERE B®[@]@® 900 | 11.20 | 13.40 O TEERE | T5F 1% ST
F=EG @ 9:00 | 11:20 [ 13:40 HK R LT HEIRA —(2°
/11 BAaAmEE |AlB| | 9.30 | 11.50 | 14.10 FIERE SRmAR AR FEEINEE
11/12|4—5+—21—&+»s| C| D | J 9:00 11:20 | 13:40 IR HOERL -2 #$31§ 2 % &8
1118 J—T1—or—EBE| E | F | K 9:00 11:20 13:40 O | BARE | BERTRER 44 FEINEEET
y—5—or—&ira| G| H| L 9:00 | 11:20 | 13:40 MAERR | BEETES -2 W= EXE
11/23[—7+—+—#tsa| T | 11 15:00 | 17:00 _ RIS itHEID —{2° I 2 21
11/25] %727 —&tra| I 13:30 GEES 78/ hiiak| EBGLFRRA 1A FTES JHk*DT\ —1x







